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The purpose of this research is to compare the power of the test of T-test Wiicoxon Mann
Whitney, Continuously Adaptive test and B-test in testing population means of 2 groups. The
population distribution are Normal Distribution Gamma Distribution and Lamda’s Tukey
Distribution. All groups have the sample sizes which are 15,25,30,50 and when the sample sizes
are unequal (15,20), (20,30) , (15,30) and (30,50). The levels of significance are 0.01, 0.05 and
0.10. The Monte Carlo simulation method was used in this research.

Results of the study are as follows:

1. Under the normal population, T-test has the highest power in ail the levels of
significance .

2. Under the non-normal population

- ata =0.01 and 0.05, B- test has the highest power in all situations, the skewenss is 0.0
and the kurtosis is platykurtic,Continuously Adaptive test has the highest in all situations the
skewenss is 0.0 and the kurtosis is moderate, B-test has the highest power in all situations, the
skewenss is 0.0 and the kurtosis is high.

- ata = 0.10, Continuously Adaptive test has highest power in all situations, skewss is
0.0 and the kurtosis is platykurtic, T-test has highest power at the kuriosis is moderate and
B-test has highest power at the kurtosis is highland skewenss is 0.5, 1.0, 1.5 and 2.0, B-test
has the highest power in all situations at kurtosis is platykurtic, moderate and hight.





